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1. M‘gn.
(a) WM (i) worEdl TR
(b)  Hrewrg (i) word wiema foreh
(€) TR (iii) hfeam fad
(d) v (iv) I wawma faea
it 39y
(a) () (c) (d) (a) M) (e) (4
(1) (i) (@) () (3) (2) () (@) (i) ([v)
(3) (iv) (i) (i) () (4) (i) (i) (v) (i1)
Match the following :
(a) Mayurbhanj (i) Central Administration
(b) Kolhapur (i) Merged into Bombay Province
(c) Rampur (iii) Merged into Orissa
(d) Bhopal (iv) Merged into Uttar Pradesh
Answer Options : .
(a) (b) (e) (d) (a) (b) (e) (d)
(1) (i) (i) (@) (i) (2) (1) (i) (i) (v)
(3) (iv) @) () () o (4) (i) () (v) (i)
2. TEEHE FIUE SE Ve ar feEn g ?
(a) H, & (b) e, srqufas
(o) FEEEEEA (d) THR e
ot I
(1) () ST (b) e (2) (b) 3 (o)
(3) (c) =nfoN (d) w (4) (a), (b) 3nfer (d) we
fo)  Mir, Hasham (b) Chitramani, Anupchitra
I i nmaad i ld] _

Fakir Ulla
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3. 1mgﬂﬂﬁmmwmmwmwﬂﬁmﬁm? |
i) T (2) el wie FvE &
(3) W A FS (4) e fage Tmst i
In 1889, who called a meeting of barbers in Bombay and discouraged them from
tonsuring women ?
(1) Justice Ranade (2) Maharshi Dhondo Keshav Karve
(3) Mahatma Jyotiba Phule (4) Maharshi Vitthal Ramji Shinde

4. e A GO FT A0 FS 7
(a) %mmmm .

g i L] = I

Yo |

'l-..llj _".'\ "1__'.. 1 i |
a0l 30 smpd

the f@lwwm;g;l%ea%a w gt iﬂ
Th it u.ﬂ "“1 “’ l-l
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S o : Fiea o
(a) HvE (1) oSt Teie araTem T@R F9 af faaEde ;
(b) RS HATE SrAfEm (i) At =z i < st fagm 2.
(c) T TaH (iii) ﬁﬁwmﬁ@ﬁammmﬂm
(d) TS T T (iv) mmmmmmm ! |
i s
it 3 T A
@ (b () (@ @ ® © @ nﬁ
(1) G () [f'iii (ft) @) ) 6 v Tt
(3) (iv) () (1) (i) (4) (ili) (i) (v) (@) muuﬁ- R
Match the following : = rTel et S48
(a) The Peshwas (i) :

Built Libre

.....

(b) Maharaja Sawai Jaym;:.gﬁ

au e Fa

(c) Raghunath Navalkar ‘V‘M

(d) Raja Sarfoji of 1
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5. i e FomATTER A F

(b) S AT i e

(c) S A

(d) fawer ufteg

mﬂ:

(1) (a), (d), (b), (©) 2) (a), (), (). (@)

(3) (b), (a), (d), (c) 4) (0, (b), (@), (d

Arrange the following things in chronological order.

(a) The Pakistan Resolution

(b) Rejection of Rajaji’s proposal by the Congress

(d) Simla Conference

=, (). (b, (o) 2) (@), (b), (), (d) ; '




Wthh Of thB Paﬂ' from the fO“OW']Ilg is wrong )
(1) Dastas - Bankroka Tapu

(2)
(3) Parshuram Dal - Orissa Loadert

Sjaram Dal - Bihar

L]
i

(4)
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(@) T T

() TR

WhatWe the following States ?
() The Malavas '

(d) Madrakas

(&) Sanakanikas

Answer W
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(a) 0T (b) (4) (a), (b) o (o)

(1) F (a) .(2) WX (b) (3)
Which situation is responsible for the monsoon winds in India ?

of Jet stream in 30° to 40° latitude belt

. ..-- l'lﬁ}f __. _.:;- .;" il
'ﬂ? lll. b "'l i LC r A AL
ffee
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19, FERTEIH AT VSIS (qwET) % s 2
(a) VA T FEATA U IoURH FE Vi T
(b) S AT O F S Freo e e,

wafet 3
(1) e A (a) ST SR, ;"
(2) faem (@) ST (b) TR e, o A

.(3) fawm (b), (©) T (d) siraT e,
(4) fawm (a), (b), () 3P (d) =¥ s,
What happened in Maharashtra due to fragmentation of .
(a) Farmer is not able to produce food m' e
(b) There are obstacle to supply water to ﬂﬁﬂculauﬁﬁm '.
(c) The use of modern agricultural tools is unmm
() To pay individual attention on agriculture is un
Answer Options : | |
(1) OIII}' statement [QJ is correct.
(3) Statements (b), (c) and (d)

[

(a) yE=Hg
L
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(d) (b) (c)
J(2) (i) (V) (i) (i)

(4) (i) (1) (iv) (i)
n with the

(a) Ibl (c)
(v) (i) (i) (1)

,tu} (i) (iv) (1) "
pertant wnrdq in the definition of ‘optimum populatm
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g3, Srew IH

STTaTS WS it fawm
(a) < A (i)  femyE,
) faedt Ao (i) feoedl, sr@en
o o A (iti) - =hrom, T
(@ -3 ATl (iv) sTemm, SEeg
atdt 3 ;

(a) (®) () (d) (@) (b) (e) (q)
(1) () (v) @) () (2) (iv) (i) (i) (i)
8 6 6 @ ) (4) () ) (v) (i)
Match the following :

Dharwar Rock System Area
(a) Champion series (1)  Singhbhum, Bonai
(b) Chilpi series (ii) Delhi, Alwar
(c) Rialo series (iii) Kolar, Raichur
(d) Iron-ore series (iv) Balaghat, Jabalpur
Answer Options :

(@) (b) (e) (d) (@) (b) (e) (d)
(1) (ii) (iv) (i) (i) (2)  (iv) (iii) (i) (i)
(B) @) (i) (i) (iv) (4) (1) (i) (v) (i)

24. Fvan fegidte At Sotee SRt ST A F9 s,
(1) wew, vema, sEweFal (2) Y=TE, T, FgER
(3) Targ, TR, vsma - (4) SFROHH, HEE, FGER
Find right sequence of tahsils from north to south in Nandurbar district.

(1) Shahada, Dhadgaon, Akkalkuva (2) Dhadgaon, Taloda, Nandurbar
(3) Navapur, Nandurbar, Dhadgaon (4) Akkalkuva, Dhadgaon, Nandurbar

¥ HIHIA W/ SPACE FOR ROUGH WORK | X
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ratio as per census 201] »
District Dﬂnlity

(o) Thane 886

(d) Aurangabad 366

Answer Options :
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(1) mﬁm (a) TR SR
(2) e fauT (b) =R A
--‘131 faem ® ST () weR AR -
), (b) T (c) S AR ‘
ewing statements : j
a 1oc is found in Penganga and Godavari river basins.
d in Dlmrwnr rock system L
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32. Few o
@ - I Y-
( groft St ) (wer )
a) fPeT (i) el g
b F (i) e T e
() IEF (i) e ety
d) e (iv) SeRREA Gem
gt ST
oA @ () () (a
(1) (1) (iv) (i) (i) (2) () (iv) (i) (3)
(3) () (iv) (i) (i) (4) (iv) (i) (i) (i)
Match the following :
Column-I Column-II
(Valuable Fauna) (Importance)

(a) Insects (i)

(b) Snakes (ii)
(c) Frogs (111)
(d) Earthworms (iv)

Answer Options :

(@) (b) (c) (d)
(1) (i) (iv) (i) (i)
B) (i) (iv) (i) (i)

Consume insects
Crops-pollinators
Soil fertility

Protect damage from Rodents

(a) (b) (e) (d)
(2) (i) (iv) (i) (1)
(4) (iv) (i) (i) (id)

T FIETES W/ SPACE FOR ROUGH WORK

Y13
+F
[;ur
o7
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c
g4, e A : +
'FFT."- I m_ n
( e T ) (=)
(a) THIH (i) TiEn
(p) TEREEER (i) SEs
(c) e (iii) S
@) 39 (iv)  sidtam
atdr 39 ;
(a) (b) (c) (d)
1) () (i) (i) ()
(3) (i) (1) (i) (iv)
Match the following :
Column-I
(National Parks)
(a) Naramdapha (e :
) Simlipal
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Consider the following statements : it
HDI is a composite index of health, education and standard of living.
dard of living is measured by GDP per capita-

*
) o

only is correct
and (b) both are incorrec -t
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o TS & & TebTTIC Reordl Yot avoren areits a0 2
38 a%ﬁmﬁm/m (b) a1t wifer mfed

{CI Wg’[ﬂmm (d) T A Yo

a7

0 @ Ftor (d) (2) (a), (b), (c) =nfor (d)

3 @ © i (d) @) (a), (b) sfor ()

The “miSsIig girls and women' phenomenon occurs due to which of the following

s 7

:rz;:tafprcferencc for {:nale child (b) inadequate data |

(c) womel SratHGnS (d) high maternal mortality ratio ,

Answer Options : _

(1) (a)and @) (2) (a), (b), (c) and (d) -

(3) (8} () and (d) (4)  (a), (b) and (d) 3
;9_ Wﬁm’-’[ EEIGR=I |

) TE 3T G AR 2007-2008 W FE HOAR .
) i, TR A ST A e i & e 3 .

gt 3

(1) A (a) SHISR 3E (2) T (b) SR A

3) (a) SO (b) ST S S (4) (a) T (b) St T A

Consider the following statements :

National Food Security Mission (NFSM) was launched in 2007-2008.

(a)
It aims at increasing production of rice, wheat and pulses.

(b)
Answer Options :

(1) only (a) is correct

(3) both (a) and (b) are correct

(2) only (b) is correct
(4) both (a) and (b) are incorrect

40. TEwiE o/ fauE/A SOET e/ 2
(a) T &1 A YHhed 2015 A & FI0AN A
b T 93 9 a -14 9F ST A /AR TR YH Foedl Yol A g

fzes =ma.

(c) T gz Foe goil wedaqd 5o .
waE 3y i
(1) (a) % (2)  (b) (3) (a) 31 (b) TR (4) T § :

Which of the following statement/s is/are correct ?
[a] National child labour project was launched in 2015.
) It provides vocational training to children rescued from work force in the age
group of 9 - 14 years.
() It gives stipend to rescued children.
Answer Options :
) (@) only (2) (b) only (3)

T WS ST/ SPACE FOR ROUGH WORK

(a) and (b) only (4) all of them
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. wete faur fa=me =40 :
(a) verg FrErsE
(b) WO T (AEE)

watdt 3

(1) (a) e a0 e 2

(3) (a) FHfor (b) e | \ITI Aayog in January, ;¢
b N,

gnméﬁgfgﬁfmﬁmﬁm was "’ﬁ:.f wg: NITI Aayog

(b) Normative Pla ning is a guiding I b,
e rrect

(1) (a) only is mrrect i and (b) are inco
) both ) and (b) are correct (4 A
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(b)

(c)

(d)

gt 3 ;

(@) (b)) () ()

(1) Gv) i) ) )

() () () (i) (iv)

Match the following :
Group - A
(Economic Reforms)
Demonetisation
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(1) 7121 e s 9 29
(2) tﬁwmmwwmmﬂ

(3) Wmﬁmwﬁmﬂmﬂﬂﬁﬁ

) ﬂm30m2015m@mﬂﬂg§wm

Which of the following statement is not correct about In

ternational Solar Alli:

| solar-resource rich countries.
Ally between "Ho‘p‘ic af cmm:,_.
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A F ﬁ:ﬁjﬁﬂﬁ 3y ani:
5 /3 2
T IerEA {GNP) a1,

4
(a)

(b)

(c) iy
Woovew Fogoe TS shl:srsamsul
(1) f(a) C-F!Tf'JT (b) 2)  (a) =1for (o) ?'i‘t "l"" ‘ ..
(3) (b) F (c) b M e
Which of the following statement/s Jare ”
(a) GNP is the total money value of good:
during the given year N,
(b) The part of income pr: ir
included in GNP. pr uced
(c) Per capita income shows
Answer Options : "
(1) (a) and (b) .3
(3) (b)and (¢) i
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(1) 180 sterh () srwen et BFC
(@) wven weo e
(3) 90 st (/2) sraeen e A
VN re——
When a compression of
(2)  Compression with no phase change
(3) Rarefaction with a phase change of 7/2 (by 907
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i v fa=m &0

(8 Hﬁij:;q T S - 14 3 vy 12@@3{%@.
(p) FRCOIERI - 14 TmEfEE) '
(1) T (o) W & S (b) ferereh o s,
2) (a o {b}ﬁﬁﬂﬁ%m' i
(3) (o) T W AR WY (b) 7 s

(4) (a) HAM (b) THASTE Haiftrq At

Consider the following statements -

(a) The ratio of 14C to 12¢ changes cofkinio

(b) Radioactive isotope C&rhﬁn-l"risuma
Answer Options : : iy

(1) Statement (a) is true and is a reas

(2) Both (a) and (b) are no 5

(3) (a) is true but (b) is fa

(4) (a) and (b) are not
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- ) is m . .
combining desired stem with

(1) Budding  (2) Layering '
[ gETOTE HRTOR S,

R i w” w

e faum f frdvite G sygemaat S
WY . g T90S TR S, . A T S —
(1) poms -

Fefitadion d=sfeiez 7 sus (SaHE o

&91) FrET arEa.
(2)  FomE " SretaT ! o i s
(3) F smwdw |
YT W Y
HETP HAH.
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n 5 4 T Wmm
(3) " HIRRT T A WA () wErw g
(b)) A (ii)  iamem §uA 9 Fed, e
(c) ST/ TTTHRTNY am  (i4i) hewesi
| FaeH fhal A S
() FORIHETY (iv) s e o
wfﬁl(':?‘f:(m e .,,fr.,-,u
S oo AT (@) (b) (e) (d) i |
B (1) () ), () (2)  (iv) (n}l {i';lq (i) -
g .o G o) 6 @) ) ) (v 6
.| Match the following with correct optmns, : -
| (a) Inexhaustible resources (i) Anthr gg;wi' 3,
v (b) Stratosphere (::) Fﬂmﬂa{fzm i P anc
(c) Non-renewable resources (iii) Stalar Energy
(d) Chlorofluorocarbons (iv) Rich
_f : ; o Rich
P (a) (b) (e) (d)
(1) (iv) (HE) (iRt S (2]

(i) ()

(3)

(1)

"
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61. ot e /T A
(a) ArEreR ¥ FrETd qgd @S s it ST
(b) ﬁwmmwm“ﬂ :
(1) (o) Fo AR 5 y’
[4] sarcomerc 1
(3) (a) 3nfUT (b) T ¢/s is/are true for
Which of the following statemen bre. v el
(a) A sarcomere is any segment of e 7 Ph}’Siolﬂglcal o
(b) It is a unit of histological structure an
Answer Options :
(1) Only (a) (2) Only ‘:} the above
(3) Both (a) and (b) (4) None€ L
62. IR TARIH AU BV hed 7 .- ) tem faceh
. (1) @R (2) TEA (3)
: (4) Rudolf Virchow

The cell was first time described by ”
(1) Lamarck (2) Schwann (3) Robert Hooke

63. W Sred el (Fg uaig fae) ¢

(a) oifeies (i) SToeRTEE S
(b) fusiwres (if) ST SR
(c) TewiFem (ili) SR SH
(d) IR SRE i (iv) STEeTeTET S H
it 39
(@) (b) (c) (d) (@) (b) (c) (d

(1) @) (@)  Gv) (i) (2) (i) (i) ti‘}) l[i])
(3) (i) (i) (i) (ii) @A) G v (g
Match the following (use correct codes) : ) i)
(a) Aristotle (i) Fatht;r 0

f Medici
(b) Tl.mophrastus (i) Father of G:n;ctl_ne
(c) Hippocrates (iii) Father of B i

Otany

(d) Gregor Johann Mendel (i
Answer Options : Bhlitber of Plology

@ @ 0 .
) ) (i) Bl s 1Sk (e
@) (v) (i) () (i) :4; :E” {:i; Ei_V]} [i}'
V) (i)
AT FHEIG ST/ SPACE WRW .
TSN

e
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-3 : (4)  <mmg an

which of the fo;lol?nng Protozoan disease ig transmitted by bite of tse tse fly ?

(1) Slciepmg Sickness (2) Delh; i Yy bite of tse Yy
C zar

@ Ken g (4) Chaga’s disease

e
i m”ﬁ?@’mmmwww S Na* s Hed

————

(1) F AEF(2) wh (3) i, wft  (4) sfe, s
In vertibrates, inside the cells ang tissues, there is a concentration of
Kt ions and concentration of Ng+ ions 1

(1) Low, High (2)  Low, Low ' (3) High, Low (4) High, High ll

) MnO, + 4HCI - MnCl, +2H.0
[(E:)] 2Na ?I- Cl, - 2NaCl Cla 20+Cl,
(d) 2NaBr + H,0, — 2NaOH + Br,
it 397 :

(1) ¥ (a), (d)  (2) (), (o)
Which of the following are Oxidation-:
(a) 2Mg + O, — 2MgO

.(b) MnO, + 4HCI
(c) 2Na + Cl, —)H
() 2NaBr + Hy0, - |
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68. mﬁsﬂﬂﬂaﬂmﬂﬁﬂﬁaﬂ@mﬁ?

(1) R HAS

(2) T 3 SHETa

(3) ﬂ,ﬁﬂfﬁ!mﬁmmﬁ

(4) @

noid/s ? |

Which of the following is/are terpe
(1) Only menthol
| U
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Wfﬁuﬁﬁﬂmﬁwaﬁ%m% Y13
YRATd, S SO fadree
(a) %Elasmg_-qfﬁ
ﬁ““a“"ﬁ%ﬁm@ HiES g A
o) aﬁﬁﬁmmm%%‘m
57 S Tt fafiqrt zaargi wrrm fiah A

qardt I
(1) (@), (), © ) ®), @ @
(3) W (a) ST (b) (4) W (o) s (q)

Consider the following statements and choose the correct code.

In India, a constitutional amendment bill can be introduced in the Parliament

(a)
only with the prior permission of the President.

In U.S.A., every constitutional amendment must be ratified by at least

(b)
two-thirds of the state legislature.

(c) In Switzerland, no alteration of the constitution can be effected without
resorting to a referendum.

(d) In Australia. the constitution can be altered only by an Act passed by an

absolute majority in both houses.

Answer Options :
b), (c), (d)
0 ), b), () A, ()1
.(4) Only (c) and (d)
3)  Only (a) and (b) “ d

\\L_____,____———"—_‘_'— :

RK
™ ST/ SPACE FOR ROUGH ¥e
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72. mmmvﬂmﬂ?ﬂ%
(a) AL T

(b) —TTH EE
(c) TR WEE

(d) e R
gyt 39

(1) (a), (b) (2) (a), (€) .

Which of the following pairs are not cOfT ctly ! __lchcd ? Minister on matters
(a) Calling attention Motion - . ST tance

urnment Motion

To adjeumthe House before the expiry of the

:.tfu'n'e:-.. ention of the Speaker towards when
ings of the House do not follow rules

|

1ker towards
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,@% “ A L I Wﬂ%ﬁmqﬁ 2 Y13
i mmm%ﬂ“ 1986 T
(b) 2003?%%3 FAR sren,

e 15
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76. @eotE! For fae aET A 7 o e AT om
(1) Wﬁm@ﬁﬁﬂﬂﬂﬂmﬁlmi“ fafardean

(2) TE o faivaw wada wiEvATE A
: o e A T
(3) HET Huee ¥y agHam HEs B #mma-a-{q:gﬁ.

(4) 9 fafudean = Fo0 fFEn () fearmrer
comct ? .
d in either house of

Which one of the following statements is not :

(1) No bills for the formation of new staté shall be mtrOdu‘fSent

Parliament except on the recommendation of the PI"T*'Sl 7 el veor

The President before introducing the bill in the Pfﬂ'llament_ T ’ . lt. to
in a specified time limit,

(2)

the concerned State Legislature for its views with !  JlE
(3) Parliament can form a new state only by a law passed by a special majority,
(4) The Parliament is not bound to accept the views (opinion) of the State

Legislature.

77. DFGI QYRS SRS @ee R
(a) =ma/fR 3 anfor s s Wi fiar | 358 9,
(b) mfﬁawmﬁwﬁﬁmqﬁémﬂﬂ?ﬁ
(c) mfmmm@wmmwmmmwg

1 9.
(d) =/ T S9-vawyEe a e
e FrAiE St st a2

1) @, k), (@2 o), ©, @ .3 (a) sy (p)
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] 8 mﬂﬁa‘mm T, 39, S, Wmﬁa,mmﬁm%mﬁmmw
(el wmw&zﬁ@ﬁm% T

2 I
(1) 30 (2) 16 (3) 28 P |
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(1) ﬁwﬁmwﬁmﬁﬁﬁwmﬁ
(2) wmmmmwﬂwla
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Wuﬂﬂm
Wmmw

3 3 3 vz e o ke et 70 T T
(@) i e TEam g e A ﬂ'@"’"ﬂﬁ!"g
Wqﬁmﬁw Wmﬂmm
Commission ig

3 et ST wETS FHOAEHEE
mm; the following statements regarding Central [nformation
one Chief Information Commissioner and

(1) It is a constitutional body includes
more than Five Information Cammismoners (ICs).

pointed bytha_ Pmmdent on the re
ﬁi'?nniﬂ"%ey a‘tt&m the age of 70 years.

bu Informatmn Commissioner is
er b;l:!‘. cannot hold

commendation of
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(b) anfony
) AT T »

(4) %= (g
is/are correct >

is Which of the fo]lowing statements

(a) Article-111 of the constitution deals with the definition of money bills.
d b A bill categorised as finangia] bill under Article-117(3 be introduced
only in the Lok Sabha. TRt T s .
r (c) A bill categorised as financia bill under Article-117(1) cannot be rejected or
amended by the Rajya Sabha.
Answer Options :

(1) Only (a) (2) (b) and ()
(3] None of the above (4)  Only ()

8. W fauriat #1o faum wiraT
(1) ﬁmzoOWWmmmm%{m
(2) WMWWMWWW-WMW““
(3) mﬁmmwmmwm#nmwmw

4) WWMWMMWHWﬁ‘
mmmmmu ; - ‘

Which one of the following statements is mot correct

) Uxmm,mwwmhﬂﬁﬁwu

2 mﬁﬂmmww%hﬂﬂhw

) If the bill is passed again by the State L

and presented again to the President for
hmmw Gl >
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Consider the following provisions.

(a) mmW‘mmMﬁmmmmW

(b) The powers di .!dmmmm@nﬂ "

() mwm“mmmmmdm

g “The Union can change the name, area and of a state without its
: . consent. . Constitution
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, (1) =EE (2) e fEw (3) Fowe @Es  (4) TH s
The largest invertebrate, a spineless creature, in the world is _ " 4
(1) Octopus (2) Cuttle Fish  (3) Colossal squid (4) Giant squid
87. TG FuA/A e - (15 =1 fow S @) ¢

(a) UA.F. 67T wEPTY ey AR
(b) afag Beal @ AETE HeE AR,
(c) =i 9 T s wfes ..

uatEt FI.T 3

(1) ™ (a) (2) FEF (a) M (b)

(3) e (b) #IT (¢) ‘(4) HH (o)

Select the correct statement/s (Regarding 15" Finance Commxaman]..«»,

(a) N.K. Singh is the Chairman of Commission. - 1 *“«ﬂ"*

(hl'- Arvind Mgl_lta is the Member of Commission.

(2) any{a}md{b}
3&1‘1 @n’b{g}‘r o 1 ". &
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which of the followin s
2019 ? & decisions were taken with

,(1) Right to watch football in s
(2) Right to vote
(3) Right to own family prog

Right to Divorce
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(1) (a), (b, (€}, (d) 2 -
) (),
:l?‘)ijlcct[atl;‘lcrrlomct statementg kit (4) }:‘%’, ﬁ;: :3; g —
(a) Whip is responsible for the ut Whip n India : - g
legislature. pm% and behaviour in the
(b) India inherited this concept from the R "t

(¢c) There can be chief whip,
(d) In presidential electiong

or Member of Legislative A
Answer Options : gl
(1) f(a), (b), (c), (d)
(3 (a), ()

th D | Parham enitary

96.
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(1) = (a), (b), (c)
(3) T (a), (b), (d)

' ijccﬁvea of National Skill
(a) Support to government
i m skills development across

_ luate the effectiveness of existing

(d) Empowerment of women throu

(b)

society.

(4) w4 (a), (©) (d)

of India’s five year plan for s
all factors.

skill develop
independen:

|r-

gh economic

(2) Only (b), (¢): (d)

Development Agency of India are :
Kills training.

ment programs.
ce for betterment of
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